NIMOLVNNIIANL NI'X7AIS 7Y NIMITAN
D'VIISN DMA0N oY D' AN 7D 71IANal TIn'a

JINITNNN NIDN 7Y 002NN .cos(45°) —f qma 1.1 %20n

.cos(2565°) N'Xj7219N W NX RYN

NIMITAAN NN 7V 002NN .sin(45°) —f m 1.2 720N

sin(765%) N'¥A190 W DK 1AW

T anr jopn NN R Ikxn 1.3 7200
-y (o) =cos% N'X7190 7Y

T anra jopn uriMnn DX Iy 1.4 720N
y(x)=tan(3x) n'¥;1on v

X907 T anr juopn rnnn DX Ikvn 1.5 720N

y(X) —cot[2 X +3]

NZ2I90 W NI (VN TN DX IXYN 1.6 720N

2% X
y(x) =sing +tan4
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N'Y ANDIN NIMLUNNIAM0 NIMIAT

NINTY DR INDIN 2.1 720N
tan(5a) +cot(173) _ tan(5a)
cot(5a) +tan(17f) ~ tan(17f)

NINTA DX NI 2.2 720N
sina +cosa +sin(19a) +cos(19a) =2-1/2 -cos(9a) sin(45° +10a)

NINTA DX INDIN 2.3 720N
7sin(6a)-12sin(14a) +7sin(22a) _
7cos(6a) -12cos(14a) +7cos(22a) =i

NN DX INDIN 2.4 720N
9-9sin[57ﬁ-32a] =72(sin(9*n-8cx))2 -(COS(61T-8O())2

NN DX INDIN 2.5 72N

1-8-1/3

2m=12arctan8 +12arctan—————

8+y/3
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